EARAROBEEIERT — 2 N— IBISH —F

20135F6A9H (H) 3mEER5H

(VAR C 1 A4 5 %—M% (xwlw | lmEmml - |5 @) o 8
[xE£] 1 %:160,000 @  2#%:32,000” ~ 3#%&:16,000 M  437%&:12,000 ™ 5% :4,000H
B ®RBE RESB MK MHE BF (F8) 4L (&%) | BBIEG | EOF |SIEH | AR | HE | NG FIR) / BE / £EHS
o= LLAES B :30. = . — BEE= ()
: 6|37 1 + % 5 7k 1(3_0)5 3-2 39.9 1 ig)s =
¥+ T7roR70—7 B:O-TJE> 2> il SEEA
S o FHRERR :30. - . — #HEEZ (KiR)
21717 TS5A4F 4T E—ZX 4 ;‘.0 1(320)8 1-1 40.6 2 (4+932) e
L:TLeFFE2T« BTIMT4T7hH—~4 b =
5 [ 44 | EBRE 1:30.8 9-3 39.5| — 3 500 | iR (BERE)
3011 Y791 E-h 56.0 (74%) (-g) | AREET
R:HISTLIFLN BiHITIVE EH Fk
s A [OEESES : = — {2 ARHEA (KR)
4l8lo J—JRKk—Y 5 4 6 5‘;3.0 1.(351).6 4-4 40.8 5 (4:317) An Y
L:Halling B:7—IKI1—-Yvs H—L— - JvX> - T7—LARS
\ 4 7 | KIFE 1:32.1 6-7 a1 - 4 522 | EBEE— (KIR)
5 4 Y1 /N—2XR 54.0 (3) (-6) BTHE
R:bhIDATAF— B:av4—RF%— ' kR
. . SiERE .30 - . = $AREER (KiR)
6l7lg|l I bX1T 17T O 56.0 1(,:\32,_; o6 408 6 f; RiEES
R:TUHARIL R BitbA > hT4 TS oA
N R . RO — . _ — 142 ARBRI (KR)
718110 ANANFE—1) > 25 2 1.(35.0 5-8 42.0 9 zzgz; frs
L:O=J X124 B:RAFXRT LU E— EvJLy RT7—L4
s BRI — : - — NFBEAE (BE)
3 3| IXF=TH> b 6o (11'313/23) N ¢ f:) #iHIE—
Lib—>NNTy K BV IFNT LT 57455
= t 4 | ERERE 1:33.8 7-10 26| — 6 507 | WF=E— (KiR)
955 —T77IT 54.0 (3) +2) ZJAREAE
L:d—IWR7Ua— B:RY—UFLZ = Tr—1L
e S ST/ :34. = . — 1EBERE (KR)
10 9 ZBY RTF 4R 49 56.?) 1(3(;1)8 8-9 43.5 10 (4_850) s
L:7A7% B:XZCRFLIVR BRT7— L
® 1 — @B
13—7-—
2a—F—
Ja=5= 7,3,6,9,10,4,5,2,(1,8)
43—+ — 7,6,1,9,3,8,4,10,2,5
[ /N
B 6 150/ 714K 6-7 160 e E 6-7 290 JEE 1-6-7 710H
B B 6 1004 1-6 330M B = 6-7 280M JEE Gl 1,490M
7 110 1-7 550M B H 6-7 350M
1 1809

ABICOVWTRDTEEERROODE. TR LIV,




